N = 0l & At & Ml A

20223 = =0 & LA MEH I =0

SN MEHIISD
N MES YA (MBHIISD)

Sl =B (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MEHIISD 5,086,233 5,357,709 ~271,476
= 501,000
< 8,000
Al 4,577,233
HE2LAZIH (MEHIIS) 65,325 63,484 1,841
Jl2&dl 28,310 28,393 A83
1=l 28,310 28,393 ~83
201 Let2d] 11,990 11,993 A3
01 At 22l I 11,134 11,134 0
Ogt=&H| 3,070
—JIg2 ARESHI 30,000%27H 810
—gRFL A2 20,000%5& 100
— 224 5724 70,000+ 12& 840
— 28 =&l 60,000 12 720
—MEFER 10,0005 *12& 600
O=gtl 8,064
—Jl2geFzy 8,000x12F 72 «12& 8,064
02 =224l 856 859 A3
O3 & HA 856
—fEsSaE 15,000%400 &+ 123 720
—2E32(SII) 2,480x82 x43| 80
—Ea(ge 400% 1024 *43] 16
—RERI(SIAE) 5,000% 124 x83| 40
202 oddl 9,240 9,320 A80
01 = LH o4 1l 9,240 9,320 A80
OJlege=a 20,000%118 3.5 +x12& 9,240
203 P2 E=AY| 5,880 5,880 0
02 It =&Y 1,080 1,080 0
ORI E R =& 40,000%27H 1,080
04 FN2ELRZ=TH| 4,800 4,800 0
ORAN2EYF=AHI 400,000~ 12& 4,800
204 HR=HAH| 1,200 1,200 0
01 MR FH 1,200 1,200 0
O 100,000%12& 1,200
ol 2d | 37,015 35,091 1,924
ol 2AY| 37,015 35,091 1,924
101 @124l 37,015 35,091 1,924
04 JIZHHZ2Z2XNSE+ 37,015 35,091 1,924
OAg2el & HA20kH AE2d
37,015,000+ 1H 37,015




2N
CAMEHIIE MelAld

el

X ZH
S =

MEH I S0

=08

(u]

(=)
MEHIIS MelANd &

-

i
i)

SH-HH . B(SH) - HBAMY - B2 o A o il 2
MEH IS XHelAlE 89 5,020,908 5,294,225 N2T73,317
= 501,000
< 8,000
Al 4,511,908
MEHIIZ MHelAld &X & 4,006,670 4,339,682 A 333,012
=2 488,000
< 8,000
Al 3,510,670
MEHIIS MelAd | - A 363,676 356,842 6,834
= 8,000
Al 355,676
201 Bt H | 90,726 92,112 AN 1,386
01 At 22l Yl 71,626 73,012 AN 1,386
OAagotM 22X 2R = 200,000*2H 400
OEZZH 7 70,000%3Z 210
OSIHEEEHEXN 7 27,000%2= 43| 216
Otz 2N 2¢ 30,000%25 *23| 120
ogag a3xs 2¢ 30,000%25 23| 120
Ogaa a3 A& 5,000%4ZF «23| 122 480
Od2d I LdXE 40,000%5CH x12& 2,400
O2JI1&8d)] dx & 50,000%2CH *12& 1,200
O3H&EA Hld ¢2x= 30,000x7CH*12& 2,520
o294 57,960
— =&Y 60,000+2H x365 43,800
— YR 60,000%2H 118 14,160
Ooul=sl 6,000
— A= (5t=2) 65,000% 129 =24 1,560
- Y= (s8) 65,000% 12 x2H 1,560
— A (oHE G 60,000% 12 222 & 1,440
— M= 40,000%*3Y x2H 240
— gst= 100,000 12 = 1& 1,200
02 352494l 19,100 19,100 0
OAlI& &Hl K X Hl| 8,300
—HXE & AMEE FA22 8,300
M XHE B2 =4 2,200,000%2CH 4,400
c DUHEIT 42| 500, 000*2CH 1,000
M == Hi2t =24l 500,000*23] 1,000
MXIE 42 |4l 1,000,000 14 1,000
>FTEI 2| 450,000*23] 900
OF-FT=3c- 900,000*12& 10,800
202 04| 5,400 3,180 2,220
01 2LHOHI 5,400 3,180 2,220




?l: MEHII=S XMelAE &

D MEH IS0
M. dEHIE M2lAME 29
Ail

% S 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
OMeHmIIE Iz g2 =2
20,000%2Y 5 52 123 2,640
OMEBHIIS B 4D BE HA(ZLH)
20,000%2F x5 x12& 2,400
Oagtord 2| X w0l
90,000%4 L x1H +13] 360
203 YR =&l 1,000 1,000 0
03 AIHZ=XH R =AH| 1,000 1,000 0
OAMHBZ=EHS =AY 1,000,000 1,000
206 M= Hl 30,550 30,550 0
01 =8l 30,550 30,550 0
OUEAE ddE2 SFX2els8 N 22|
30,000, 000 30,000
OMZI &5, s4& 5 223 28 550,000 550
308 XX EHH SOl A 110,000 150,000 240,000
12JIEtRE3 110,000 150,000 240,000
OCHIISXMERES 7 110,000, 000 110,000
401 Al& Bl & 28I 123,000 80,000 43,000
< 8,000
Al 115,000
01 A& HI 123,000 80,000 43,000
QHEHII2 MelAld S22l (A=188& m)
80,000, 000 80,000
OMEHIIZS MelAld HIIFA 23,000,000 23,000
OMEHIIE HEANE HIIHEEHEA
20,000, 000 20,000
= 8,000
Al 12,000
405 TtHabF S| 3,000 0 3,000
01 AL EFFHSHI 3,000 0 3,000
OFUAE deter)] ¢l 3,000,000+ 1CH 3,000
HEHIISHEAIEZHE S A 1,619,527 2,092,322 ANAT2,795
= 400,000
Al 1,219,527
401 AIEHIZL 20HEI 1,619,527 2,092,322 NAT2,795
= 400,000
Al 1,219,527
01 A& Hl ,613,000 2,083,520 A 470,520
OMEHIIE MelAld T8I At
1,333,000, 000+ 14 1,333,000
= 400,000
Al 933,000
OMEHII= MHEE 22 g ¥ &
280,000, 000 280,000




M SEHIISH

M MEHIIS M2dAE 29
Chel: MEHIIE MelAld X & 2el (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
03 AIE 2 0HHI 6,527 8,802 AN2,275
OMEHIS MelAlE ZEI3A 20l
1,333,000, 000%0. 36% 4,799
OMBAIS 22 HE(CHE) 2 =& 2oyl
1,728,000 1,728
SASAISAE 29 1,372,929 1,169,930 202,999
= 88,000
Al 1,284,929
201 L2l 414,408 373,015 41,393
01 At 22/l 46,530 46,230 300
O e8| 26,730
—ElHl 42dAM =2 1,000,000%43] 4,000
MAEEBE2R L B0 HEZ AL
300,000*12] 300
— ElHl MaES MUASE Il
1,200,000+ 13l 1,200
—SAE2 HIE HMANE A =2
3,000,000* 12| 3,000
— K2 SAE AFZA(ABHED]) =22
4,500,000%23] 9,000
— A WEIAN =3 1,200, 000*4CH 4,800
— &8I M4 PLCRIE =HI 500,000+2H 1,000
— MM BANE AEWEHl  150,000%12 150
— X3 HHE 2 (Le) 7Y
2,000+40F 2 80
~XRE FHg L (H2Y) 7Y
2,500%40F 2 100
~ X5 FHE BL(2HDY) 7Y
10,000+40% 2 400
—HIIANEE FHHIS FE+Y
30,000%20% 2 600
—XEFFAE S A wH(E22H, &
JlEzH) 900,000%25 1,800
— NRSAIE Agord2te| Tt =
300,000*13] 300
odxs 19,800
—SH= £l L (ELTLEEH) =
2,200,000*1CH*43] 8,800
—SAE RA4SEH 01 247 gRz
550,000%2CH 43| 4,400
— SA = 242 EH 013 €2 Xz
550,000*3CH 43| 6,600
02 =224l 367,878 326,785 41,093
OA& EHl R Xl 85,758
—SAS I S0 HEHE A
700,000%57H 3,500




AN HEHI =S
g dEHII=S MelAdE 29
Helr MEHIIS MelAE X & 2e

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
S AE0H0] SN2 E
1,500, 000%23] 3,000
—SAS0S SLYEE ISR WA
60,000x5= » 123 3,600
— B MAZOEH & FY LA
1,500,000%23] 3,000
~EEM HSI Y LI Bl
2,000,000%5CH *23] *20% 4,000
—sASRASAY 26 L 2EI| ZH
2,000,000%7CH 23] *20% 5,600
—SAMESNSAE S2I1 FHl
1,000, 0007 CH *50% 3,500
—SAZ205 238 FHOA Hul
1,000, 000% 12CH *50% 6,000
—245a, =4 WEI| HMAHE PLCILE
H 1,500, 000%2CH *50% 1,500
—2sa, =4 W) dA WA
100, 000*107H *50% 500
— 8% HEESE md F| 100, 000*20H *50% 1,000
—&dsHE &l 1,000, 000%57H 2 *50% 2,500
—A0E &0 &bl 1,500, 000%7 I 2 *50% 5,250
— SASUESAE SIS=I] &4
2,500,000%4CH x50% 5,000
—SASUHESIAE L2AE2 EHI
1,500,000 14 1,500
—SAESNEE SEH 38 22 & AE2S3
wE 1,500,000%3CH *23| 9,000
—YENY 29 & AEZF we
2,000,000%* 14! 2,000
— 220 o=l 1,388. 11x30L*309&! 12,868
— XA HZ2H 1,388.11x7L*309! 3,003
—AJEgH HZH| 1,388. 11x16L+309&! 6,863
—2EXNE A2 1,388. 11%6L*309 2,574
O3 & HA 264,960
— NASAE HILSI(ANEStAIE, SdFHHZ
Al4) 22,000,000+ 12& 264,000
—EZNE REI (ST 38)
80,000*4CH 320
— S&Hl #J| AL =8  80,000%4CH 23 640
OAYHIIEY U ALB2AUY 222
440,000+ 1228 5,280
OxJetE el e+ Z (RHBIAE, AdFHAM
2ZAIE) 990,000+ 12& 11,880
202 Odl 5,800 5,800
01 =2 LHA YI 5,800 5,800
OPLC F 04 I 400,000%2H 800
Os&H s ¢l 20,000%30L x2H 1,200




AN HEHI =S
g dEHII=S MelAdE 29
A

Chel: MEHIIE MelAld X & 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ot etMEANSE 200,000*1H 200
OSASMY I UHSAE BFAS
200,000%5H x23| 2,000
OElHld=2& A 100,000% 1 «123] 1,200
Oagorda2e| X wsodl 400,000* 1 400
206 M= Hl 323,721 283,115 40,606
01 =8l 323,721 283,115 40,606
OHJIINEE X228 N 22 9,100
—oIHE 38 #¢ 7,000,000%13] 7,000
— &I E+8 M 350,000%62] 2,100
O&EIl, JIAANL=E EHlE 27 7
100,000+ 15& 1,500
OJNANEE SX 248 228 7Y
50,000%305 *33l 4,500
O=SMHES & 01Z 7  300,000%2.5&E «309 231,750
osY =¥ 250,000+80& 20,000
OfHl Z&& ZO M +&  300%100,000% 30,000
g 228 g 7Y 23 100,000+602 6,000
OflHl 228 g2 2 &Y s 385 ¢
3,000,000*33| 9,000
Ogatdlz 9,500%22Z %309 5,871
Ol 0158 =3HZ 2¢ 600,000+ 10CH 6,000
401 Al HIZ 201 8] 629,000 508,000 121,000
= 88,000
Al 541,000
01 A& HI 629,000 508,000 121,000
OdXeld , E24a XNE E= 20,000, 000 20,000
OSAMESXASAE S|
220,000,000%* 14 220,000
= 88,000
Al 132,000
Ogs, =4 dsMd SAt 50,000,000%14) 50,000
O34 w2l FRAES 30,000
—2aEaldl 15,000, 0001 CH 15,000
—nH=Eell 15,000,000+ 1 CH 15,000
OSAMEFYUSH tHEA3F WM
30,000,000% 14 30,000
O=3als dZma0 wH 150,000, 000* 14! 150,000
OHgI#Il 8&2018 2357 LA
30,000,000* 14 30,000
OSASMEEH H=0s BZ WX
4,500,000*2CH 9,000
OZFA 2R L AESAAE FH|
8,000,000 14! 8,000
OEZ=Z2C 2 33 B0l WA 9,000, 000* 14! 9,000




M SEHIISH

M MEHIIS M2dAE 29
Chel: MEHIIE MelAld X & 2el (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OCEzC 2 33 &l 2,000, 000*4CH 8,000
O34z 08237 187 A3F WA
20,000, 000 20,000
OSAMESNASANE L54, E4 W) &
i 15,000, 000 15,000
OSMNENRSAIE 2HE WA 30,000, 000 30,000
=HcelAld 2 387,775 443,155 255,380
201 et 200,690 233,690 A 33,000
01 At 22l 28,190 28,190 0
Oget==EH| 23,240
—=HMoAE 228 2807
35,000+ 104 350
~HEH HEA YRa 2HAM 242
350,000 124 x123] 4,200
—OHRE HES BE DA 42
230,000%324 43| 2,760
— a2l ¥ IS BAY(FADY) Y
10,000%40F S *43| 1,600
-2 "YS 65,000+6Z x23] 780
— 228 st 60,000%6E »23| 720
—22As &3 10,000%6H »12& 720
- 228 29 35,000%6E x 13l 210
—HIIANEE FHIE8 ¥ 2¥
30,000+30% = 900
— &&=+ sl &4 FH gz
2,200,000+53] 11,000
O |REH DHIA === 1,200, 000*4CH 4,800
O dojerdzel Xt &3l 150,000* 12| 150
02 3323l 172,500 205,500 A 33,000
O3 & HA 140,400
—=X2AE I3 11,500,000% 122 138,000
—4FHILHY S22 200,000 12& 2,400
OFEFXMIANE, REXFX HIO ¢
500,000%10CH*1/2 2,500
O&FE=XeANd 531 =l 800,000+4CH 3,200
O&=HelAd &5 &l 50,000*30H 1,500
OCEEHeAd Td 22| 100,000%20H 2,000
O&ZE==XelANd AsHMALZH EHl
1,500, 000%23] 3,000
OHBLMIAANE FIIOA BRAG +42
450,000x12& 5,400
O&FE+=XcAE 298 WM EHHI
500,000%4F x23| 4,000
O&FE+=HMelAE REH KA 2cl
2,500, 000+8CH*30% 6,000




2N
X ZH -
L= B

el

M EH I =
HEHII=S XMelAE
MEHIIS XMelAE

209

nx Ho
He
e

el

SN HH-S(BN) - MBAY - B il HlnE2
OA&EIIXM =X &2 2,500,000%6E *30% 4,500
202 oddl 3,180 2,460 720
01 = LH 4 1l 3,180 2,460 720
O &&=+ & Xot= =ZFAM
65,000x1H x12& 780
OFE+HAANE 2 2@ ynAS
70,000%3H x2 43 1,680
OFE+HeANE 22 FH(S2H)
20,000x1H 3L x12& 720
206 M= Hl 90,320 90,920 A 600
01 =8l 90,320 90,920 A 600
OJIAHANE BHE 43 425 2¢
50,000+20& 1,000
OJIAHEY 27 ¢ 100,000%125& 1,200
OFE# 018 =ZTEHI(220V +5) #¢
500,000+8CH 4,000
O8H = 0158 =3ZEI(380V) &
800,000+8CH 6,400
OZJ1x FHl8 &Jla 7Y 30,000%200H 6,000
OFE+XelAE FHE dII27 2
30,000%10& *23| 600
OFE+XclAE FHE dI MM 7
50,000%20F *33| 3,000
OFE+=XelANE ARSHOH PLCAHM 7L
500,000%45 2,000
OCEEHM2ANd AZH 2 6,800+1,400kg 9,520
OFEES =ZAAE AL 2 11,000
—CD =3 EH 3,000%4 K x250 3,000
—NH3-N =H EH 200%20m | 250 1,000
—NO3-N =5 = H 1,600%4 I *250 ! 1,600
—ZE4L EZ2Y 6,000%401 x150 3,600
— &0 =Z8H 3,000%401 x150 1,800
OE=J DX S&H +&  3,300%12,000kg 39,600
OE+8 LAz 2 60+100, 000kg 6,000
207 &P IoH 2,785 2,785 0
03 Al & 12 Hl 2,785 2,785 0
O&EA NI 2 2,785
— Z M CIOHY 11,000%60H 660
S=sH(2e ) 4,000%60H4 240
— g4 ) 6,000%30H4 180
— Mg (Z2tAE4y ) 3,000%30H 90
— CF/CHO X 99, 000+5H4 495
— PHIHI Ol IH 16,000+ 104 160
—UEZE &EZ 20,000%3024 600




M SEHIISH

MM MEHII2 MHelAE &9
G2 MEHIIS MelAld X & 2¢) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— 28 HOolH 3,000%120m 360
401 A& H|IZ 2 0HY| 86,800 112,800 A 26,000
01 Al& B 86,800 112,800 A 26,000
OEAELHeAE RIAL(REX 222 &4
2l) 3,000, 000%3JH 2~ 9,000
O&&xXclAl4 00, pH,0RP AIA A H|
1,500,000%3JH * 13| *x2J4 2 9,000
O&&xXelAld MLSS A M WX
6,000,000%13| *1JH 2~ 6,000
O&=4£H™elAl& CCTV X242 300,000+16CH 4,800
O&FESLXelAAE 1 Z2IIX A2 WA
18,000,000* 104 & 18,000
O&FESLXelAA 2x ZI|X A2 WA
20,000, 000*1JH 2 20,000
Ox=Hdels === HOHOoI= &bl
20,000,000% 14! 20,000
405 XHA&HF S HI 4,000 500 3,500
01 XL 2 FF S| 4,000 500 3,500
OSSs=d3g 2o 2 4,000,000 1CH 4,000
UFH2ZAIE 29 203,390 213,840 A 10,450
201 LBt 33,690 33,690 0
01 AP 22| H| 18,690 18,690 0
OAANY ZHAL FHIS FHBH ADE
2 3,690
— &2 59 3¢ 30,000+6H x33| 540
—3st2 ¥ &R 25,000%62Z &l *33] 450
—3lst2 ot BES &Yl R (g=s0tAa,E
H, 20otd 5) 50,000%3= *33| x6H 2,700
OEFANE AFIAN =2 3,000,000%53] 15,000
02 2324 15,000 15,000 0
OUMNE EFALE AN A
500,000*7CH*33] 10,500
OAHNE AIIALH A 1,500, 000%3JH 2 4,500
206 M = Hl 129,500 148,200 A 18,700
01 M =4l 129,500 148,200 A 18,700
O YHHA SFAIE 1L 69,500
— X0 AMLIES (3 A) 300%40,000kg 12,000
— JIEACH3MA) 250%200,000kg 50,000
— SR A) 250%30, 000kg 7,500
OUFZED ADE (23D HMAHE 2 38)
2l 1,200,000%4= *33] 14,400
O3IstAlD BTHSE 2 AHH[(2eh 2 38)2Y
300,000%4Z *304 & 3,600
OA%E =222 Fgm-u 2ol 1,500, 000+8CH 12,000




M SEHIISH

M MEHIIS M2dAE 29
Chel: MEHIIE MelAld X & 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAFHMZH 7¢ 30,000,000* 14! 30,000
401 Al HIZ 201 8] 40,200 31,950 8,250
01 A& HI 40,200 31,950 8,250
OAMNE EHLH SAH &X
2,500,000*3CH 7,500
OSASNAS AUME 30 HE Fl
2,500,000%23| 5,000
ORYLIX AHANE EFEH HHIHI
3,000,000%23| 6,000
OBELHeIAL AHUNT 2 MY
2,000,000%23| 4,000
OFEFXMCAIE SARME EFHLH HHI 5,700
— TE8EIZ F 2,500,000%4CH x30% 3,000
— 43EZ Fdl 1,500, 000+6CH *30% 2,700
ORI AMAE EHLH FHl 8,700
— TEEIZ F 2,500, 000+8CH*30% 6,000
— 43EHZ Fdl 1,500, 000*6CH *30% 2,700
OSASTE S AWAME FHHl 3,300
— =gz Fdl 2,500,000%2CH x30% 1,500
- AZEZ FH 1,500, 000*4CH *30% 1,800
JIEH Al 2 Zdl 2tel 59,373 63,593 A 4,220
201 L2l 26,373 30,593 N4, 220
01 At 22l 7,739 7,739 0
Oget=&H| 7,739
— &3 L =2 30,000%3H 2 %23 180
—S43 & =2 200, 000%3H £ 600
— St CHHl 238t S8 2l
25,000+504 125
— S Yl &30 #¢ 40,000+50H 200
— A28 SHOH 2 125,000%4-4F Xt 500
—HZ20 Zel JtESX 2l
50,000 104 500
— St SEX(F20t2l) 2l
18,900%58f A+ 12& 1,134
— 34 HIXE #HEEES 2
40,000%24f Xt + 122 960
—Sg=s NMEE HMHF 728l 30,000-12& 360
—S&EA HIXS 22l 5,000x3& 12 180
—JIEJIYE =2 100,000, 000%3% 3,000
02 =224l 18,634 22,854 AN4,220
02323 % HAl 3,955
—&otxER=3 300,000 122 3,600
— NS XA 75,000*1CH 75




D MEH IS0

M MEHIIZE HelAlE 29
P MEHIZ2 HelAld 8x L 22
(o
SN ED B (3H) - MEAY - BAS ol &k o8 %@i
— SN BEE S (NHSH2)
100, 000*1CH 23] 200
—NEXN2EAN =242 80,000 1CH 80
OAl&E & HI KX Y| 8,600
— H 20 XFetD| £=2l, W H 300,000%2% x43| 2,400
—HZ2U HSEI X 22| 3,000,000 3,000
— SO0l HSAAE JIELIHI L CEHHOIA
ILE =2/ | 800,000 800
—2AIH0Iet &€ Z2 08 KX
100, 000%7H & *23] 1,400
— NXE A2 1,000,000 1,000
OAIR4A 22Xe S22 5,110
— 32X |FF4 1,350*2,6004 3,510
— 3= X £l 500,000%23| =1CH 1,000
— 3= Xt EIOI & 100, 000*6H = 1CH 600
QHIISXelAd 222 WHI Sl
1,300%7454 969
206 T 2 bl 33,000 33,000
01 XHZ H| 33,000 33,000
OMEHIISH2AIE HHAE 2|
55,000%23| *25 x 12 & 33,000
22 HeAa 29 2 el 1,014,238 954,543
= 13,000
Al 1,001,238
228 HEAE 22 & SdMEHII= Hel 1,014,238 951,463
= 13,000
Al 1,001,238
101 e1214| 26,000 0
= 13,000
Al 13,000
04 J|12ZtHIZ22NEES 26,000 0
OMeEa3 SEZMNE XNEAY 26,000,000 26,000
= 13,000
Al 13,000
201 LBt | 168,600 127,100
01 AP 22| d| 153,600 123,600
QHEER Z&M HY 28t M2l 49|
150,000%1,000E 150,000
OHIKIIE HEsE 2 Kol MdEHII= 2=
A dx= H 24 & Xl 300,000%43] 1,200
OHIfIIE MHEssE 2 Ko MdEHII=
g Adx= HEZS 400,000%63] 2,400
02 Z2=2=29%4| 15,000 3,500
OMeEss8 HdEAA JIHEH |A22
5,000,000 14! 5,000
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Hl w
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819,638
819,638

Off &t 24
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